    Ch 334  -  Quiz 3  (take-home)

    due 9:05am, Fri. 10/27/00 
Name (please print)









   (43 points)

(No part credit. Answers must be meticulously correct in every detail.)

1. (12)  Give an acceptable name for the following, taking care that all of the rules of naming (use of commas, dashes, etc.) are used correctly. Include stereochemical labels where appropriate.
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2. (3) Figure 4.6 on Carey's molecular modeling CD shows an animation of proton transfer from molecular HBr to water. Careful inspection of the structures will reveal that there is a flaw in this presentation. What is the flaw, and how should is be corrected?

3. (8) Write a reasonable mechanism for the following reaction. Show individual steps clearly, and use correct electron pushing. (The use of the symbol  H+ is not acceptable.)
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4. (4)  The trans cycloalkanol shown below in Haworth projection  reacts with H-I to give 1-iodo-3-methylcyclopentane. 
Use clear Haworth projections to show the stereochemistry of this product.
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5. (4) Alcohols are soluble in water because of mutual hydrogen bonding. Sketch the mutual hydrogen bonding 
that is important in a solution of methyl alcohol in dimethyl ether (CH3–O–CH3).

6. (8) Considering the proton-transfer reactions below as written from left to right, label the Bronsted acid and the Bronsted base as well as the corresponding conjugates. (Be sure to label the conjugates adequately.) Also insert the electron-pushing arrows for the proton transfer as written from left to right.
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7. (4)  a) The conjugate base of HPO4–2 is ______      ________, and the conjugate acid is _______       ______.
     b) The conjugate acid of S–2 is ___________    ________.  The conjugate base of HS– is _________    ________.
